CONTRACT OF AGREEMENT

KNOW ALL MEN BY THESE PRESENTS:
This Contract is made and executed this day of 2024 in Bayombong, Nueva Vizcaya by and between:
The NUEVA VIZCAYA STATE UNIVERSITY , a government instrumentality, created by virtue of RA No. 9272, with principal office in Bayombong, Nueva Vizcaya, represented herein by the University President, DR. WILFREDO A. DUMALE, JR. , hereinafter referred to as the Procuring Entity ;
and
The FAYE AND SAM GENERAL MERCHANDISE , with principal office at San Fernando City, Pampanga, represented herein by its Manager, EMPERATRIZ G. MUSNI , hereinafter referred to as the Supplier ;
WITNESSETH:
WHEREAS, the Procuring Entity invited Bids for certain supplies/goods and ancillary services for the project 2024-7E : Supply and Delivery of ICT Equipment , Semi-Expendable- ICT Equipment , and ICT Supplies for the University ;
WHEREAS, the Procuring Entity has accepted the Bid of the Supplier to the aforesaid equipment;
WHEREAS, the Procuring Entity has issued the Notice of Award to the Supplier on 2024;
NOW THEREFORE, for and in consideration of the foregoing premises, the parties hereto as by these presents, do hereby agree and be bound by the following terms and conditions, to wit:
I. Contract Price
The total contract price is Nineteen Million Seven Hundred Eighty-One Thousand and Seven Hundred Thirty-Five Pesos Only (Php19,781,735.00).
II. Expected date of Delivery of equipment is Sixty (60) calendar days starting seven days after the receipt of Notice to Proceed.

It is therefore, mandatory on the part of the **Supplier** that the delivery of the goods and/or performance of services shall be made in accordance with the time schedule prescribed by the **Procuring Entity** under the Schedule of Requirements.

Page **1** of **20**

III. Goods/Supplies

The **Supplier** accepted the aforesaid amount as payment of supplies materials for the complete of deliveries of goods and services at the unit Bid stated below:

No	Unit	Item Description	Qty	Unit Cost	Total Bid Amount
1.	Unit	ACCESS POINT, WiFi 6 Enterprise, 4x4 MIMO, 600+ connected devices, PoE+, additional 6 GHz radio, 2.5GbE uplink, high- performance, ceiling-mounted, multi-band coverage within high-density - UniFi for the existing system. With one-year warranty	5	30,000.00	150,000.00
2.	Unit	AVR, 1500VA Input Voltage230VAC Voltage range 145-295 VAC Frequency Range 50 or 60 Hz (auto-sensing) AVR automatically increases output voltage 20 to 40% above input voltage if -15% to -399 With one-year warranty	10	3,350.00	33,500.00
3.	Unit	BARCODE SCANNER, 1Dimensional/ 2Dimensional Desktop Barcode Platform Scanner USB Wired Barcode Reader for PC, Windows, Mac, Android, POS With one-year warranty	3	3,500.00	10,500.00
4.	Pair	BATTERY, Rechargeable, Size: AA Capacity: up to 2000mAh Cycles/Recharges: up to 2100 times Storage Life: Holds 70% charge up to 10 years Low Temp Rating: Down to -4 degF Chemistry: LSD NiMh Recyclable: Yes Weight: 0.952 Size: 0.57" x 1.99" Voltage: 1.2V	15	500	7,500.00
5.	Unit	CABINET, 6U Network Data Cabinet, wall-mounted, 2 Exhaust Slot, Removable Side Panel, Glass Front Panel with Key, Removable Top and Bottom Slot for Cable Management, SIZE: 600MM*450MM*330MM, Lockable Steel-Framed Door supplied with Two Keys. Upper and Lower Cable Entry Points with removable covers. Removable side doors, Supplied with four sturdy wall-mounting bolts. A cut-out section designed	2	6,450.00	12,900.00

AMMHU)W

9

Page **2** of **20**

		specifically for a fan, with extension inside,			
		heavy-duty. With one-year warranty			
6.	Box	CABLE, CAT6 UTP standard cable, 305m per box 23	3	6,850.00	20,550.00
		AWG high density polyethylene insulation, ISO/IEC			
		118001, EIA-568-B.2			
7.	Piece	CABLE, HDMI 4K at least 60Hz ver. 2.0,	12	430.00	5,160.00
		speed 18Gbps conductor pure copper			
		Standard, connector gold plated @ 3 meters			
8.	Unit	CAMERA, 18MP DSLR Camera +18-55 mm	3	28,500.00	85,500.00
		Lens with			
		128 GB Card + Case			
		With one-year warranty			
9.	Unit	CAMERA, 24.2MP APS-C CMOS Sensor	3	49,500.00	148,500.00
		DIGIC X Image Processor UHD 4K 30p Video Recording			
		Dual Pixel CMOS AF II with 651 Points			
		Mirrorless Camera with 18-45mm Lens with			
		the RF-S 18-45mm f/4.5-6.3 IS STM standard			
		zoom lens.			
		With one-year warranty			
10.	Unit	CAMERA, at least 24 MP APS-C CMOS	2	48,500.00	97,000.00
		Sensor Dual Pixel CMOS AF DIGIC processor.			
		(EF-S 18-55mm f/4-5.6 IS STM, 3,975			
		selectable focus positions (Live View), built-			
		in flash, ISO 100 - 25600 (H:51200), LCD			
		3.0in., optical zoom 3x, connectivity: Hi-			
		Speed USB,			
		Audio / Video Output, HDMI,			
		With one-year warranty			
11.	Unit	CAMERA, webcam for computer/laptop	9	1,800.00	16,200.00
		Resolution: Full HD 1080P with Built-in			
		Microphone			
		Frame Rate: 30fps USB: USB 2.0			
		Compatible with: Windows 10 or Later			
		Works in USB			
		Video Device Class (UVC) Mode: Universal Compatibility			
		With one-year warranty			
12.	Unit	CAMERA, Mirrorless Digital Camera with	2	44,250.00	88,500.00
12.	Offic	15-45mm		44,230.00	88,300.00
		Lens (Black)			
		22.3 x 14.9mm CMOS			
		Dual Pixel CMOS AF with Eye Detection AF			
		ISO 51200 for working in low-light			
		conditions			
		UHD 4K video recording at 23.98 fps			
		Full HD 1080p60 and HD 720p120			

HMMHIL)W

9

Page **3** of **20**

		225 1:0152 1 : : : 5 : .			
		2.36m-dot OLED electronic viewfinder and a			
		3.0" touchscreen LCD for intuitive control			
		With one-year warranty			
13.	Set	CAMERA ACCESSORIES, 4K Pro Wireless	2	48,500.00	97,000.00
		Transmitter Receiver 5G Video Transmission			
		System,			
		3G-SDI/HDMI, UHD 4Kp30/1080p60,			
		23.98/29.97/59.94 FPS, 450FT/150m Range			
		66ms			
		Delay, 8-Bit 422/424, 4 App			
		Monitoring(1TX+1RX) With one-year warranty			
14.	Unit	CAMERA ACCESSORIES, DSLR 3-Axis Gimbal	1	58,500.00	58,500.00
_ 1.	Oine	Stabilizer 1.4 Full Color Touchscreen, Pro	1	30,300.00	38,300.00
		Combo, connectivity: Bluetooth USB-C,			
		RSA/NATO ports, 1/4"-20 mounting hole,			
		Cold shoe mount, Video transmission/follow			
		focus motor port (USB-C), battery 1950mAh			
		LiPo compatible with iOS/android with			
		complete accessories			
		With one-year warranty			
15.	Unit	CAMERA ACCESSORIES, Lens, S18-135mm	2	59,500.00	119,000.00
13.	Oine	f/3.5-5.6	_	33,300.00	113,000.00
		IS with nano USM motor, Filter size: 67mm			
		for Canon			
		DLSR camera			
		With one-year warranty			
16.	Unit	CARD READER, Type-C USB 3.0	3	350.00	1,050.00
		Card slot: SD TF Micro SD Memory Card		330.00	2,030.00
		Reader with dual-interface Support			
		Simultaneous Reading for			
		PC Phone Tablet			
		With one-year warranty			
17.	Set	CCTV, Camera 4MP WDR IR Bullet Network	10	9,500.00	95,000.00
		IP Camera 1/3, 4Megapixel progressive			
		CMOS H.265 & H.264 dual-stream encoding			
		20fps@4M Multiple network monitoring			
		Max IR LEDs Length 60m IP67, IK10(optional)			
		PoE+ with power supply adaptor, Dahua for			
		existing system			
		With one-year warranty			
18.	Lot	CCTV ACCESSORIES, CCTV Power Supply and	1	9,350.00	9,350.00
		Accessories			
19.	Unit	DESKTOP COMPUTER, INTEL CORE 15	2	27,000.00	54,000.00
		1135G7,			
		8GB DDR4 256GB SSD Windows 10 or latest,			
		CPU only			
		With one-year warranty			
20.	Set	DESKTOP COMPUTER, Processor i5 12th	61	44,500.00	2,714,500.00
		Gen or latest, 16GB DDR4 RAM Delta RGB,			

HAMMUL)

g

Page 4 of 20

500GB SSD,			
22-in. LED Monitor, Ultra Du	able Anti-Sulfur		
Resistor			
Smart Fan 5 Motherboard, 7	00W PSU		
Casing, VGA,			
AVR, Mouse, Keyboard, pre-	nstalled Win10,		
MS Office			
365, Antivirus, 1yr warranty	17 12sh 07	72 000 00	5 354 000 00
21. Set DESKTOP COMPUTER, Proce		73,000.00	6,351,000.00
Gen or latest, 16GB DDR4 RA	M Delta RGB,		
500GB SSD,			
22-in. LED Monitor, Ultra Du	able Anti-Sulfur		
Resistor			
Smart Fan 5 Motherboard, 7	DOW PSU		
Casing, 4GB			
VGA, AVR, Mouse, Keyboard	pre-installed		
Win10, MS Office 365, Antivirus, 1yr wa	ranty		
22. Unit DESKTOP COMPUTER, Proce		118,500.00	118,500.00
Gen or latest, up to 128 GB,		118,300.00	118,300.00
HDD, CD/DVD writer SATA, I	VIDIA GEFORCE		
RTX 4080; LED			
MONITOR of 24" full HD; US	3 Optical mouse		
with pad, Keyboard, pre-inst	alled Windows		
11; MS Office 365, headphor	e: High quality,		
dynamic sound with rich ton	e color, allows		
90 degree stereo, 2 meter ca	ble, WebCam;		
with max. HD 720p/30 fps re	solution video		
and a long-range mic up to 3			
can provide	meters away,		
The state of the s			
60 degrees diagonal field of	riew, 1 year		
23. Unit DIGITAL VOICE RECORDER,	ISB 2	6,500.00	12,000,00
rechargeable	2	6,300.00	13,000.00
battery, built-in stereo micro	phone, 4Gb		
built-in memory, at least 5hr			
stereo earphone jack,	, recording,		
USB Connectivity, with expa	dable memory		
With one-year warranty 24. Set DRONE, Drone Combo with	Remote 1	96,850.00	96,850.00
	veillote 1	90,030.00	90,630.00
Controller of	1		
Controller of	nidirectional		
	nidirectional		
Controller of 46-Min Max Flight Time, Om	nidirectional		
Controller of 46-Min Max Flight Time, Om and Obstacle			
Controller of 46-Min Max Flight Time, Om and Obstacle Sensing	oto Cameras		
Controller of 46-Min Max Flight Time, Om and Obstacle Sensing Dual Wide-Angle & 3x Telep	oto Cameras rtical Video 0 48MP Stills		

AMMMI) W

J

Page **5** of **20**

			1		
		Accessories			
		10-bit D-Log M & 10-bit HLG Color Modes			
		Up to 46 Minutes of Flight Time			
		Omnidirectional APAS 5.0 Avoidance			
		O4 1080p60 12.4-Mile Transmission			
		Multiple Pre-Programmed Flight Modes			
		Plan Routes in Advance with Waypoint			
		CMOS 1./1.3			
		Video 4K/100 fps			
		Effective pixels 48 MP			
		Color Mode D-Log M / HLG			
		Source All Directions			
		Transmission Range 12.5 miles			
		Battery Life 46 min			
		Charge Time 60 min			
		Max take-off 6,000 meters			
		Max take-off, landing speed 10 m/s			
		Max speed 21 m/s			
		Connectivity type; Wifi, USB			
		Color: Gray			
		Included components: 1 X Drone, 1 X			
		shoulder bag, 3			
		X Flight battery, 4 X Low-noise Spare			
		Propellers, 1 X			
		Gimbal protector, 1 X REMOTE CONTROLLER			
		2, 1 X			
		Battery Charging Hub, 1 X USB-C Cable			
		With one-year warranty		_	
25.	Set	DRONE, Takeoff Weight	1	68,500.00	68,500.00
		595 g			
		Dimensio			
		ns			
		Folded:			
		180×97×77 mm			
		(length×width×height)			
		Unfolded: 183×253×77 mm			
		(length×width×height)			
		Diagonal Length			
		302 mm			
		Max Ascent/Descent Speed:			
		6 m/s (S/N Mode)			
		Max Service Ceiling Above Sea Level			
		5000 m			
		Max Flight/Hovering Time (no wind)			
		31 minutes			
		Max Flight Distance (no wind)			
1 1					
		18.5 km			
		18.5 km Max Flight Speed (near sea level, no wind)			
		section with a second			
		Max Flight Speed (near sea level, no wind)			5

Jamalle)u

Je

Page 6 of 20

Max Wind Speed Resistance

10.7 m/s

Max Pitch Angle

35° (S Mode)

Front: 30°, Back: 20°, Left: 35°, Right: 35° (N

Mode)

Angular Velocity

60°-250°/s

Operating Frequency

2.4/5.8 GHz

2.4 GHz:

FCC: 30 dBm CE: 20 dBm

SRRC: 20 dBm MIC: 20 dBm

5.8 GHz:

FCC: 30 dBm CE: 14 dBm SRRC: 29 dBm

Hovering Accuracy

Range

Vertical:

± 0.1 m (with vision

positioning) ± 0.5 m (with

GNSS positioning)

Horizontal:

± 0.1 m (with vision positioning)

± 1.5 m (with GNSS positioning)

Propellers

Quick release, low noise, folding

Aircraft Arms

Foldable

GNSS

GPS+GLONASS+GALILEO

Compass

Single Compass

IMU

Single IMU

Internal Storage

8 GB

Intelligent Flight Battery

Capacity [1]

3750 mAh / 3500 mAh

Voltage

11.04 V / 11.55 V

Max Charging Voltage

12.6 V / 13.2 V

Battery Type

LiPo 3S

Energy

Hommell)w

Ja

Page **7** of **20**

41.4 Wh / 40.42 Wh Weight

198 g

Charging Temperature Range

5° to 40°C (41° to 104°F)

Max Charging Power

38 W

Built-in Battery

N/A

Camera

Sensor

1" CMOS

Effective Pixels: 20 MP; 2.4?m Pixel Size

Lens

FOV: 88°

35 mm Format Equivalent: 22 mm

Aperture: f/2.8

Shooting Range: 0.6

m to

ISO Range

Video:

100-3200 (Auto)

100-6400 (Manual)

10-Bit Dlog-M Video:

100-800 (Auto)

100-1600

(Manual) Photo:

100-3200 (Auto)

100-12800 (Manual)

Still Image Size

20 MP

5472×3648 (3:2)

5472×3078 (16:9)

Still Photography Modes

Single shot: 20 MP

Burst shooting: 20 MP (continuous

burst)

Auto Exposure Bracketing (AEB): 20

MP, 3/5 bracketed frames at 0.7 EV

bias

Timed: 20 MP, 2/3/5/7/10/15/20/30/60s

SmartPhoto (including HDR and

HyperLight): 20 MP HDR Panorama [2]: Vertical (3×1): 3328×8000 (width×height)

Wide-angle (3×3): 8000×6144

(width×height)

180° (3×7): 8192×3500 (width×height)

Sphere (3×8+1): 8192×4096 (width×height)

JPEG/DNG (RAW)

HMMMAL) W

G

Page **8** of **20**

		Video Decelution			
		Video Resolution			
		5.4K: 5472×3078 @ 24/25/30 fps			
		4K Ultra HD: 3840×2160 @			
		24/25/30/48/50/60 fps			
		2.7K: 2688x1512 @ 24/25/30/48/50/60 fps			
		FHD: 1920×1080 @ 24/25/30/48/50/60/120			
		fps			
		MP4/MOV (H.264/MPEG-4 AVC,			
		H.265/HEVC)			
		Max Video Bitrate			
		150 Mbps			
		Supported File System			
		FAT32/exFAT			
		Supports a microSD card with a capacity of			
		up to 256 GB.			
		Digital Zoom			
		Zoom recording is not available while			
		recording 10-bit videos and 120fps videos.			
		4K/30fps:			
		4x;			
		2.7K/60fps:			
		4x;			
		2.7K/30fps:			
		6x;			
		1080p/60fps:			
		6x;			
		1080p/30fps:			
		8x			
		Gimbal			
		Stabilization			
		3-axis (tilt, roll, pan)			
		Mechanical Range			
		Tilt: -135° to 45°			
		Roll: -45° to 45°			
		Pan: -100° to 100°			
		Pan Axis 5.8 GHz			
26.	Unit	EXTERNAL HARD DRIVE, 1 TB, USB 3.0	42	2,490.00	104,580.00
		connectivity, compatible to all windows			
		operating system			
27.	Unit	EXTERNAL HARD DRIVE, Portable, SSD, 1	4	7,650.00	30,600.00
		Terabyte with Type-C to USB 3.2 Connector		se • e la comine Z∀Z	Grade * 2000 € 5 € 5
		and Speed Up to			
		520MB/s			
		Interface: USB 3.2 Connector: USB-C			
22	D:	Operating			
28.	Piece	FLASH DRIVE, 16GB	18	260.00	4,680.00
29.	Unit	FLASH DRIVE, 32GB Dual USB 3.0 OTG to	10	448.00	4,480.00
23.	Offic	Type B micro USB	10	440.00	4,460.00
30.	Piece	FLASH DRIVE, 64GB, USB 2.0, Write Speed:	30	450.00	123,500.00
	11000	. = ion binte, orou, oob 2.0, write speed.	50	-JU.UU	123,300.00

HMMM)w

Je

Page **9** of **20**

		6MB/s.			
		Read Speed: 15MB/s, Metal Case, Plug and			
		Play			
31.	Piece	HARD DRIVE, SATA Solid State Drive 1TB	4	4,850.00	19,400.00
		Seq Speeds: 560MB/s (Read) / 530MB/s		1,050.00	23,100.00
		(Write)			
32.	Set	HEADSET, wireless intercom system EU	1	88,500.00	88,500.00
		standard,			
		4-person full duplex, 1000ft (350m) team			
		communication, single-ear headset,			
		frequency band 1.9GHz, master 1x headset,			
		3x remote headset, 150Hz-7KHz wideband.			
		on-ear foam and over-ear leather cushions. microphone electret, sound output level at			
		94dBSPL 1kHz, audio rechargeable &			
		replaceable battery 700mAh Li-lon batt,			
		with complete set and accessories, heavy-			
		duty			
		With manufacturer's warranty			
33.	Unit	KEYBOARD, Type: USB	31	450.00	13,950.00
		Quiet typing			
		Spill-resistant design			
		Plug-and-play USB connection			
		Adjustable tilt legs			
34.	Set	KEYBOARD AND MOUSE, Wireless 2.4G	2	1,350.00	2,700.00
		Keyboard and Mouse Set with USB			
		Bluetooth Receiver For PC			
		Laptop Android Smart TV			
35.	Unit	LAPTOP, Core i5 13th gen or latest 16GB	23	55,000.00	1,265,000.00
		RAM 500GB			
		SSD 15.6" dedicated VGA 2GB GPU with			
		pre-installed Win11 OEM and MS Office 365,			
		mouse, bag			
26	I lasit	1yr warranty	47	70.000.00	4.040.040.00
36.	Unit	LAPTOP, Core i7 13th gen or latest 16GB	17	79,230.00	1,346,910.00
		RAM 500GB SSD 15.6 LED monitor 4GB GPU			
		pre-installed Win11 OEM and MS Office,			
		mouse and bag, 1yr warranty			
37.	Unit	MOUSE, 1,000 DPI	50	200.00	10,000.00
- 1		Mouse Type: Optical Wired			
			1 (
		Connector Type: USB			
		2 buttons plus scrolling wheel optical mouse			
38.	Unit		10	38,000.00	380,000.00
38.	Unit	2 buttons plus scrolling wheel optical mouse	10	38,000.00	380,000.00
38.	Unit	2 buttons plus scrolling wheel optical mouse MULTIMEDIA PROJECTOR, 3600 Lumens,	10	38,000.00	380,000.00
38.	Unit	2 buttons plus scrolling wheel optical mouse MULTIMEDIA PROJECTOR, 3600 Lumens, XGA 1024 x 768 resolution, 15,000:1 ratio,	10	38,000.00	380,000.00
38.	Unit	2 buttons plus scrolling wheel optical mouse MULTIMEDIA PROJECTOR, 3600 Lumens, XGA 1024 x 768 resolution, 15,000:1 ratio, RGB liquid crystal shutter projection system,	10	38,000.00	380,000.00
38.	Unit	2 buttons plus scrolling wheel optical mouse MULTIMEDIA PROJECTOR, 3600 Lumens, XGA 1024 x 768 resolution, 15,000:1 ratio, RGB liquid crystal shutter projection system, Connectivity: USB Type A: 1 (for USB	10	38,000.00	380,000.00

HMMM)v

F

Page **10** of **20**

		/f - LICE D: - 1 - 14 - 1/2 - 2 - 1			
		(for USB Display, Mouse, K/B, Control,			
		Firmware			
		Update), D-Sub, HDMI with Projector Screen			
		With one-year warranty			
39.	Set	MULTIMEDIA PROJECTOR, 5500 lumens	2	94,250.00	188,500.00
		XGA resolution, gesture presenter, multi-pc			
		projection,			
		2xHDMI split screen, contrast ratio 15,000:1			
		Resolution			
		1024x768 Type RGB liquid crystal shutter			
		projection			
		3LCD General Lamp life 5000 hours,			
		resolution 1024 x			
		768 pixels, connectivity: LAN, USB, HDMI,			
		Audio I/O,			
		WLAN (optional) with projector screen			
		With one-year warranty			
40.	Box	NETWORK ACCESSORIES, CAT6 UTP	5	6,500.00	32,500.00
		standard pure copper cable, 305m per box			
		23 AWG high density polyethylene			
		insulation, ISO/IEC 118001, EIA-568-B.2			
41.	Box	NETWORK ACCESSORIES, RJ45 connector	6	400.00	2,400.00
		passthrough @ 100 pcs			
42.	Unit	NETWORK SWITCH HUB, 16-Port Gigabit	6	6,850.00	41,100.00
		Rackmount Switch, 100/1000Mbps RJ45			
		ports, Standard 19-inch rack-mountable			
		steel case, Unmanaged			
		With one-year warranty			
43.	Unit	NETWORK SWITCH HUB, 48-port, Layer 2	3	64,000.00	192,000.00
		PoE switch, (32) GbE PoE+, (16) GbE ports,			
		(4) 1G SFP ports, 195W total PoE, fanless			
		cooling system - UniFi for the existing.			
		With one-year warranty			
44.	Unit	NETWORK SWITCH HUB, 8-Port Gigabit	3	2,980.00	8,940.00
		Rackmount Switch, 100/1000Mbps RJ45			
		ports, rack-mountable steel case,			
		Unmanaged			
		With one-year warranty			
45.	Unit	POWER SUPPLY, Industrial Uninterrupted	1	64,150.00	64,150.00
		Power			
		Supply			
		220 V ac; Input Stand Alone Uninterruptible			
		Power			
		Supply, 3000VA (2.4kW)			
		With one-year warranty			
46.	Unit	PRESENTER, Wireless	2	2,850.00	5,700.00
		Connection Type: Bluetooth			
		Wireless range: minimum 65 ft (20 m)			
		Indicator Lights (LED): Battery and			
		Connectivity LED			
1		DIMENSIONS			

HMMMU) W

Jr

Page **11** of **20**

	1				
		Presentation remote Height x Width x Depth: min 4.8 in (123.6 mm) x min 1.4 in (36.6 mm) x min 0.9 in (24.7 mm) Weight: min. 1.9 oz (53.5g), included Battery (not including Receiver) RECEIVER Height x Width x Depth: min 0.2 in (6.6 mm) x min 0.7 in (17.5 mm) x min. 0.98 in			
		(25.0 mm) Weight: min 0.07oz (2g)			
		WARRANTY: 1 Year SYSTEM REQUIREMENTS: Windows 10, 11 or			,
		latest Universal Compatibility: Windows, macOS, iOS,			
		Android, presentation software including PowerPoint,			
	11.	Keynote, PDF, Google Slides and Prezi			
47.	Unit	PRINTER, A1 Double Head DTF Printer 60cm with Powder Shaking Machine Max. Printing Width: 610 mm 2 pcs Head Fast Printing	1	98,500.00	98,500.00
		Speed Front and Rear of			
		Printer are Heated			12
		with White ink Stirring, White Ink circulation, and Adjustable Speed Printer structure adopts Thickened Aviation Aluminum Material With Hansen Mother Board			
		Mesh Belt Shaker			
		With one-year warranty			
48.	Unit	PRINTER, A3 Ink Tank Printer, speed up to	1	32,500.00	32,500.00
		15ipm ISO 24734, resolution up to 5760 x			
		1440 dpi, ISO 24734, paper size max A3+,			
		print method on-demand inkjet, approx.			
		black print up to 7100pages, 5700pages			
		CMY,			
		USB, 705 x 322 x 215 mm			
	5:	With one-year warranty			
49.	Piece	PRINTER, Color Laser Multifunction Printer - 30ppm,	1	298,500.00	298,500.00
		Print, Copy, Scan, Auto Duplex, Network,			
		Duplex			
		Document Feeder, Quad Core 1.91 GHz, 8			
	. *	GB RAM,			
		250 GB HDD, 2 Trays, Tandem Tray			

HAMMUL

F

Page 12 of 20

		,			
		Standard features: Copy, Print, Scan, Auto			
		Duplex,			
		Network			
		Print speed: Up to 30 pages per minute			
		Paper sizes: 8 ½" x 11", 8 ½" x 14", 11" x 17"			
		(A4/A3)			
		Paper input capacity (std. / max. with			
		options): 3,140 sheets / 5,140 sheets			
		With one-year warranty			
50.	Unit	PRINTER, Color Laser Beam Printing, Print	1	54,000.00	54,000.00
		Speed (A4, letter, legal): Up to 33 ppm, First			
		Print Out Time			
		(A4): Approx. 7.1 sec (Mono / Color), Print			
		Resolution:			
		Up to 1,200 x 1,200 dpi (equivalent), Mobile			
		Printing,			
		Gigabit Ethernet, Wireless, Direct			
		Connection Recommended Monthly Print			
		Volume: 750 - 4,000 pages			
	11-1-	With one-year warranty			
51.	Unit	PRINTER, FDM 3D	1	94,000.00	94,000.00
		Printer			
		Print Technology: Fused Deposition			
		Modeling (FDM)			
		Build Volume: at least 250 x 210 x 190 mm			
		Filaments			
		Size: 1.75 mm, Open Source			
		Extruder: Single Layer Resolution: 0.05-0.3 mm			
		Positioning Accuracy: X/Y/Z			
		0.01/0.0125/0.00125 mm			
		Nozzle Diameter: 0.4mm			
		Print Speed: 20~150mm/s			
		Supported Materials: ABS,TPU,PLA,HIPS, etc			
		Ambient Operating Temperature: 8 degree			
		celsius - 40 degree celsius Operational			
		Extruder Temperature: max 260 degree			
		celsius Operational Print Bed Temperature:			
		max 100 degree celsius Software Input			
		Formats: .STL,			
					<u>.</u>
		.OBJ, JPG, PNG Connectivity: SD Card; USB cable			
		Printer Dimensions: 454 × 466 × 410 mm			
		Slicer			
		Software: Included			
		Net Weight: ~18.8kg			
		Features: Resume Print & Sensor Dual Gear			
		Extrusion			
		Mechanism			
		modiumani			

HAMMU)v

Ja

Page **13** of **20**

		T			
		Large Build Volume with Hassle-Free			
		Assembly Z-axis double graphite bearing 3.5-			
		inch intuitive touch screen			
		PACKAGE INCLUSION:			
		1x 1 Set 3D Printer Kit			
		2x Filament Spool			
		(1kg each) Other			
		Inclusions:			
		Training and Installation: 2 days onsite			
		training and installation for at least 2			
		personnel.			
		With product demo and training			
		12 Months warranty for parts and service			
52.	Unit	PRINTER, Ink Tank All-in-One (Print, Scan,	46	11,500.00	529,000.00
J2.	Oine	Copy), print resolution 5760x1440dpi. A4 Up	10	11,500.00	323,000.00
		to 33ppm/15ppm print. Up to 10.0ipm /			
		5.0ipm B/W Print Speed ISO 24734. print			
		method on-demand inkjet piezoelectric,			
		copy 600x600dpi ISO 29183, scan 1200 x			
		2400 dpi CIS sensor, USB2.0, Ethernet, WiFi,			
		WiFi-Direct With one-year warranty			
53.	Unit	PRINTER, Ink Tank All-in-One (Print, Scan,	41	17,500.00	717,500.00
55.	Onic	Copy, Fax with ADF), print resolution	41	17,500.00	717,300.00
		5760x1440dpi. A4 Up to			
		33ppm/15ppm print. Up to 10.0ipm /			
		5.0ipm B/W Print Speed ISO 24734. print			
		method on-demand inkjet piezoelectric,			
		copy 600x600dpi ISO 29183, scan 1200 x			
		2400 dpi CIS sensor, 1.44" color LCD,			
		USB2.0,			
		Ethernet, WiFi, WiFi-Direct			
	1 bath	With one-year warranty			
54.	Unit	PRINTER, Ink Tank print only, Print speed: ISO 24734, A4 simplex (Black/Color): Up to	8	7,950.00	63,600.00
		9.0 ipm / 4.8 ipm, resolution 720 x 720 dpi,			
		print method inkjet piezoelectric,			
		With one-year warranty			
55.	Unit	PRINTER, PIGMENT BASED-INK PRINTER.	2	78,650.00	157,300.00
		Print			
		Technology: Inkjet, Print only. Printing: Color			
		printing, maximum resolution: 4800 x 2400			
		DPI, Print Speed (color, normal quality,			
		A4/US letter): 22 ppm, Maximum SO A-			
		series paper size: A3+. WIFI. Direct printing.			N.
		Product color: Black print speed up to 25.0			

HMMM)

The

Page 14 of 20

		inm Drints up to A2+ (for simular)	T		
		ipm. Prints up to A3+ (for simplex)			
		Automatic duplex printing.			
		Ultra-high page yield of 7, 500 pages (black)			
		and 6, 000 pages (color), ISO 24734, ISO			
		24735 with complete set of extra ink			
		With one-year warranty			
56.	Unit	PRINTER, Single Head Tarpaulin Printer (4 Ft	1	228,000.00	228,000.00
		Width)			
		Eco Solvent Ink/ Sublimation			
		CMYK Single Head			
		With commissioning and installation of the			
		unit			
		With product demo and training			
		One (1) Year Warranty			
57.	Unit	PRINTER, Wi-Fi Duplex All-in-One Ink Tank	5	68,500.00	342,500.00
		Printer (copy, scan, print), Print speed of up		00,300.00	342,300.00
		to 25.0 ipm, Prints up to A3+, Automatic			
		duplex printing, Ultra-high page yield of			
		7,500 pages (black) and 6,000 pages (color),			
		Wi-Fi, Wi-Fi Direct, Ethernet			
		Cloud Connect, print ISO 24734 or its			
		equivalent, copy ISO 24735			
		With one-year warranty			
58.	Unit	ROBOTICS V5, 37 in 1 Box sensor Kit with	7	6,850.00	47,950.00
		Box for			
59.	Piece	Arduino ROUTER, Dual-Band, Full Gigabit WIFI 6	1	7.005.00	7.605.00
33.	Piece	wireless router, quality, Connectivity Speed:	1	7,685.00	7,685.00
		5 GHz, Max Download Speed: up to 500			
		Mbps, high quality			
		With one-year warranty			
60.	Unit	SCANNER, A4 flatbed color image scanner,	1	31,500.00	31,500.00
		appox. duty cycle up to 1,500 pages per day,	_	01,000.00	01,500.00
		scan speed up to 25ppm/10ipm (300 dpi), 3-			
		pass duplex ADF, sensor type CIS, optical			
		resolution 1,200 x 1,200 dpi flatbed, 600 dpi			
		x 600 dpi ADF, output Resolution up to			
		1200dpi, scan speed 600dpi, out format:			
		JPEG, TIFF,			
		Multi-TIFF, PDF, Searchable PDF, BMP, PNG,			
		USB3.0, 451 x 318 x 121 mm			
		With one-year warranty			
61.	Piece	SD CARD, 128 GB	3	950.00	2,850.00
62.	Piece	SD CARD, 64gb UHS-I SDXC Memory Card	2	1,650.00	3,300.00
63.	Unit	SERVER, Intel Xeon Silver 4314 2.4G,	3	430,000.00	1,290,000.00
		16C/32T,			

HMMMM

The

Page **15** of **20**

		10.4GT/s, 24M Cache, Turbo, HT (135W) 1			
		DDR4-2666 Memory: 32GB RDIMM,			
		3200MT/s, Dual Rank Network Controller: Broadcom 5720			
		Quad Port			
		1GbE BASE-T Adapter, OCP NIC 3.0 Storage			
		Controller: PERS H755 SAS Front Hard Drive:			
		600GB Hard Drive SAS 12Gbps 10k 512n			
		2.5in with 3.5in HYB CARR Hot-Plug (max 8			
		HDD) Optical Drive:			
		DVD+/-RW, SATA, Internal Power Supply:			
		Power Supply 1100W NRDNT D, Mixed			
		Mode Management: iDRAC9, Enterprise 15G			
		Form Factor: 2U Rack Server, with Ready			
		Rails Sliding Rails with Cable Management			
		Arm Warranty: 3 years			
		With latest Windows Server software			
64.	Unit	SMART BOARD, 75" Smart Interactive	1	298,000.00	298,000.00
		White Board; 4K Ultra HD display, Wireless		230,000.00	250,000.00
		sharing from multiple devices, such as			
		phones, computers, and tablets, Supports			
		being written on with a stylus, Supports			
		Office software, and playing videos and			
		audio files, Wired and wireless network			
		support, with 4K camera;			
		Android/Chrome-based OS; 8GB memory			
		and 32 GB storage or latest available, Hyper			
		Touch with Advance IR Simultaneous Touch			
		point; 15watts front facing speaker, with			
		stand at least: 64" (W) x 69.5" (H) x 69.5"			
		(D)			
CF	C-4	With one-year warranty			
65.	Set	SPEAKER, desktop computer multimedia	19	550.00	10,450.00
		mini speakers			
66.	Unit	Interface: 3.5mm Audio, USB2.0	_	42.500.00	42.500.00
66.	Unit	SPEAKER, Interference-Resistant Window Intercom	1	12,500.00	12,500.00
		System Two-Way Window Microphone and			
		Speaker			
		Window Speaker Desktop Intercom			
		With one-year warranty			
67.	Unit	TABLET, Qualcomm Snapdragon Octa-core,	2	34,250.00	68,500.00
		at least			
		10 inches, 2000 x 1200 WUXGA+, RAM 4GB Internal,			
		128GB 13MP 4K@30fps, Android Wi-Fi			
		802.11 g/n/ac,			
					L

Hommellye

Je

Page **16** of **20**

		GRAND TOTAL:			19,781,735.00
		1year warranty			
		AVR with			
		Battery, Capacity: 12V / 7AH / 1, with built in			
		Visual (LED) and Audible Alarms, Maintenance Free			
		50-60Hz, 5A,			
		Protection Outlets, Output Voltage: 230V,			
		Surge			
71.	Unit	UPS, 650VA, 230V, 50-60Hz, AVR, with	37	2,350.00	86,950.00
		warranty			
		remote control with wall bracket, 2years			
		connectivity: HDMI USB WIFI LAN Bluetooth,			
		system, screen sharing, audio 10Wx2,			
		Virtual X, Vidaa/Tizen/Web operating			
70.	Unit	3840×2160, Dolby sound, HDR 10, DTS	16	55,000.00	880,000.00
70.	Unit	With two-year warranty TELEVISION, Smart TV 65-inch Quantum 4K	10	FF 000 00	000 000 00
		Wifi LAN with wall bracket			
		USB			
		■ CONTROL 100			
		share, connectivity Bluetooth 3xHDMI2.0			
		crystal processor, Motion Xcelerator, screen			
		dynamic crystal color, 60Hz refresh rate,			
		LED resolution of 3840 x 2160, HDR,		22,230.00	
69.	Unit	TELEVISION, Smart TV 55 inches 4K UHD	3	38,500.00	115,500.00
		With one-year warranty			
		Ports: 2, VidaaU/Tizen/Web OS, screen share, remote control, with wall bracket			
		Resolution: 1366 x 768, HDMI Ports: 2, USB			
		50W,			
68.	Unit	TELEVISION, 32inch Full HD LED Smart TV,	1	19,500.00	19,500.00
		With one-year warranty			
		quality display and sound			
		battery 7,000 mAh, magnetic stylus pen,			
		LTE, Type C USB 2.0, Book Cover casing,			

IV.Scope of Contract

The following documents shall be deemed to form, be read and construed as part of this Contract:

- a. The Supplier's Bid, including the Technical and Financial Proposals, and all other documents/statements submitted (e.g. bidder's response to clarifications on the bid), including corrections to be bid resulting from the Procuring Entity's bid evaluation;
- b. The Schedule of Requirements;
- c. The Technical Specifications;
- d. The General Conditions of Contract;

HALL)DE

F

Page **17** of **20**

- e. The Special Conditions of Contract
- f. The Performance Security; and
- g. The Notice of Award.

V. Warranty

The **Supplier** warrants that the goods/materials supplied under this Contract are new, unused, of the most recent or current models, and that they incorporate all recent improvements in design and materials, except when the technical specifications required by the **Procuring Entity** provides otherwise.

The **Supplier** hereby covenants with the **Procuring Entity** to remedy defects therein in conformity with the provisions of this Contract.

VI. Payment

The **Procuring Entity** covenants to pay the **Supplier** in consideration of the provision of the goods and services and the remedying of defects therein, the Contract Price or such other sums as may become payable under the provisions of this Contract and its ancillary documents, at the time and in the manner prescribed herein.

VII. Liquidated Damages

If the **Supplier** fails to satisfactorily deliver any or all of the goods and/or to perform the services within the period(s) specified in this Contract inclusive of duly granted time extensions if any, the **Procuring Entity** shall, without prejudice to its other remedies under this Contract and under the applicable law, deduct from the Contract Price, as liquidated damages, the applicable rate of one tenth (1/10) of one (1) percent of the cost of the unperformed portion for every day of delay until actual delivery or performance.

VIII. Settlement of Disputes

If any dispute or difference of any kind whatsoever shall arise between the **Procuring Entity** and the **Supplier** in connection with or arising out of this Contract, the parties shall make every effort to resolve amicably such dispute or difference by mutual consultation.

Dispute shall be resolved in accordance with RA No. 9285 or the Alternative Dispute Resolution Act of 2004.

Notwithstanding any reference to arbitration herein, the parties shall continue to perform their respective obligations under this Contract unless they otherwise agree; and the **Procuring Entity** shall pay the **Supplier** any monies due to it.

IN WITNESS WHEREOF, the parties hereto have caused this Contract to be executed in accordance with the laws of the Philippines on the day and year above written.

Jo

Page 18 of 20

For the Procuring Entity:	For the Supplier:				
WILFREDO A. DUMALE, JR. University President	EMPERATRIZ G. MUSNI Manager				
ID No. <u>WAD - 0218</u>	ID No				
Issued on: December 21, 2022	Issued on:				
Issued at: NVSU	Issued at:				
Signed in the presence of: NVSU Representative	Supplier Representative				
Funds Available:					
LIZA A. PARAGUAS-GONZAGA					
LILA ALI AKAGOAS GONZAGA					

NVSU Accountant IV |9,72|.735 €

ACKNOWLEDGMENT

Republic of the Philippines) Province of Nunya (San Fernando, Pampanga Municipality of Bayombong) s.s.

BEFORE ME, a Notary Pub	olic for and in the abo	ove jurisdiction, personall	y appeared
WILFREDO A. DUMALE, JR. o	of the Nueva Vizcaya	State University, who pr	resented to
me his valid ID WAD-0218 is	ssued by NVSU as	competent proof of id	entity, and
EMPERATRIZ G. MUSNI of FA	YE AND SAM GENERA	L MERCHANDISE, who p	resented to
me his valid ID	issued by	as competer	nt proof of
identity, known to me to be the s			
acknowledged to me that the sa	ame is their own free	e act and deed and that	they have
authority to sign the same for and	d in behalf of their res	spective agencies.	

The foregoing instrument, consisting of five (20) pages, including this page on which this acknowledgment is written, signed by the parties and their instrumental witnesses on each and every page thereof, and pertains to the Contract of Agreement for goods/supplies/services.

WITNESS MY HAND AND SEAL on this

JUN 0 7 2024 ____ day of _____ 2024 in

City of San Fernando, Philiparigaes.

Doc. No: 45

Page No.: 10

Book No .: CXIX

Series of 2024.

DENEESSE LOU T. CORSEZ

Notary Public Otary Public

thail December 31, 2024

Notatial Commission No. 44-23 IBP No. 391090/01/03/2024

Fix No. PAM-5276619/02 Jon. 2024/CSFP

Roll No. 59452

MCLE No. VII-0017576 Valid Unit April M. 2025